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I.  Framing questions:
A. What is the issue of 271" - do we say written M7¥ is only an issue in some
specific cases but in general it could work OR do we say it never works?
Assuming the latter - how does a 0w ever work?
B. What does oion tell us about how “vw works more generally?
II.  How can a 7w work against o7°on?
A. RY PR says 0w is different: 12 3mnnn
B. v mn2 nna says wow is different: X2 1203 251 HaR 1M7Y 79109W K17 02N *ON
. 5™ 7w
A. His w9 is - K77 837 0202 %01 K91 07900 7°2 100K K2 17 9927 7 °Mnn 7017 RI0w
7"22 1MV TIPMIY 9D 1777 MY T2 7R 090 KD 7917 D 0270 RIDW2 ARcNn RITYA
B. Issues.
1. What’s the basic case of the 72?
2. Is the critical moment of "vw the f7°nn OR the 77°0n?
3. Is the issue that it’s 2°7v 722 M7Y OR that it’s 7"¥2 722 Xow WWw?
C. muw on the 7" - the Muws (the 77281 and 701’ nN°2), the 77287 himself, the #”72,
the 17an7, and the v>-11 2>X°2 M2° N1
D. Case in n1213: view of 1IR3 X7 27, the 17an7 and X”2wN there
V. 7% N1B0INT hUw
A. His nvow in 8y 1w, the 1 Mo 87au, and X1 7Y 07am
B. Quoting a q0w - the nop 272 777 (the 2 My7) and X% N2’ MooIN



